H (GeVv)

b (13 TeV,

137 fb™ (13 TeV,
10— T H‘,(H‘) ,>-\1o“,”,‘ T
- CMS ) - CMS
C Preliminary g C Preliminary
- e+pless 1 - u+p:iss
Observed Observed
[ Expected [ Expected
1of | <150, 1ot L =15
F[] 2sa P[] +2sa
[ s Observed at 8 Te! [ o Observed atBTQ_\f:
10* = — 10% =
Eoo1 ol Ll Ll Ll B EoF
500 1000 1500 2000 2500 500 1000
1/R (GeV)
" 137 fo™ (13 TeV,
/>-\107\\|\\\\ T —TT T T T T T
) E CMS E
o [ Preliminary ]
N
= r e/u+p$‘55
Observed
[ Expected
10° ; +1s.d.
] k2
I Observed at 8 TeV
10° =
C P i

500 10

P Y
1500

P Y
2000

P
2500
1/R (GeV)

P "
1500

P Y
2000

P
2500
1IR (GeV)



